EARAZROREIERT — 2 N—XBISY —F 20185 7R 14H (£) 4MER4H

m C2+# 7R (xwlw | mEmml - |5 ) w8
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HMRE 114, - . — IR (B
12 i hFIT o4 54.0 1(1_4)5 - 5.1 s :1_413; KEEETF
L:2%—rT770ar BiFASEI1LY pxse]
o0 & EATE 114, = . — HEEE (BE
5 g| FESvI T H o4 g (12114/29) 4-5 37.8 2 (5+276) sl
L:IAL>7RAY BNRLETEX hE xR
N N BRRE : - — REEFD (KR)
3N 3| 3 yx - hk 7 E>E6.0 1'(125)'2 a2 %6 ! ig? 1REETE
LHIINRIS T — B vlTFaHT kg e
ERRYE AN 4 5 | WUABER 1:15.2 5-4 37.7| — 1 458 | RREEGEA (BERE)
411 | TITAFXTF 56.0 o | BAET
R:TANES Yy a2 BAA—hO—L T4 UL e
“ N o KIFIE :15. = . — FES= (BRRE)
577/ ¥YVFO-X oo 2 1(115)4 33 | 38.5 5 :1_250) aE=
LTI 1Fq =429 B RE2—FvU/IN— Lakikie]
S= g 10 | HER 1:16.2 7 . = 47 #EE (KiR)
6l5|5| A= KZ 2=} # 56.0 (56> 6 %9 ’ (_58) 1% 42 RTEBH
R:F4—TA4>7 b B:J4vXxvy b TATAT7—L
RN ROE— : = - BEHZ KR
N REEE i1 | 5 N
LN=VFINZyoa BHLT—REY 21— L 1T
S 4t 5 | #AKHA 1:16.5 6-7 38.9| — 7 425 | FESZ (BERE)
8 6 NZ—F7T 54.0 (11/2) ) *’A/EEW—
L:hY/RI47T BEJNITRXS > SZvae]
® I —F—@EBIERL
13=zr=
23— —
G§a=7r= 2,3,7,8,1,6,5,4
43—+ — 2,3,7,1,8,5,6,4
[ RN
B OB 2 510M 714K 2-8 470M B E 2-8 1,070M &R 2-3-8 1,500M
8 B 2 1809 2-3 450MH B H 2-8 3,080 JEH 2-8-3 11,330H
8 150 3-8 420
8 190M9

ABICOVWTRDTEEERROODE. TR LIV,



